
J1 (mod 11)

blocks defect matrix

G : 1 1 11× 10
2 0 771 = χ6, ϕ9

3 0 772 = χ7, ϕ10

4 0 773 = χ8, ϕ11

5 0 2091 = χ15, ϕ14

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ6 ϕ7 ϕ8 ϕ12 ϕ13

11 = χ1 1 . . . . . . . . .
561 = χ2 . . . . . 1 . . . .
562 = χ3 . 1 . . 1 . . . . .
761 = χ4 . . . 1 1 . . . . .
762 = χ5 . 1 . . . . . 1 . .
1201 = χ9 1 . . . . . . . . 1
1202 = χ10 . . . . . 1 1 . . .
1203 = χ11 . . 1 . . . . . 1 .
1331 = χ12 . . . 1 . . . . 1 .
1332 = χ13 . . 1 . . . . . . 1
1333 = χ14 . . . . . . 1 1 . .

ϕ1 = 11
ϕ2 = 71
ϕ3 = 141
ϕ4 = 271
ϕ5 = 491
ϕ6 = 561
ϕ7 = 641
ϕ8 = 691
ϕ12 = 1061
ϕ13 = 1191


